
1. πID,name,modelNumber,price(σprice>950 ∧ price<1000(Product))

2. πID,firstName,lastName(σpostalCode LIKE ′N%′ ∧ Y EAR(dateOfBirth)>1990(Attendee ./ Person))

3. γCOUNT (product.ID)→numExtendedWarrantyProds(σtype=′Extended′(Product ./Product.ID=With.productID

With ./With.warrantyID=Warranty.ID Warranty))

4. γdate,SUM(amount)→totalSales(σpaymentMethod=′credit′ ∨ paymentMethod=′debit′(Transaction))

5. δ(πV endor.name(σproductSubCategory.name=′LED′(V endor ./V endor.ID=Sell.vendorID

Sell ./Sell.productID=Product.ID Product ./Product.ID=ProductBelongtoSubcategory.productID

ProductBelongToSubcategory ./ProductBelongToSubcategory.productSubCategoryID=ProductSubCategory.ID

ProductSubCategory)))

6a. γname,COUNT (∗)(V endor ./V endor.ID=Sell.vendorID Sell)

6b. πname,numProducts(σnumProducts>35(γname,COUNT (∗)→numProducts(V endor ./V endor.ID=Sell.vendorID

Sell)))

7a. τdate,numProducts(πV endor.ID,name,numProducts,date(σnumProducts>10

(γV endor.ID,name,SUM(quantity)→numProducts,date(V endor ./V endor.ID=Transaction.vendorID

Transaction))))

7b. τdate,totalSales(πV endor.ID,name,totalSales,date(σtotalSales>5000

(γV endor.ID,name,SUM(amount)→totalSales,date(V endor ./V endor.ID=Transaction.vendorID Transaction))))

8. πPerson.lastName,Person.firstName,Person.dateOfBirth,d.lastName,d.firstName,d.dateOfBirth

(σPerson.ID<d.ID ∧ Person.dateOfBirth=d.dateOfBirth(Person× ρd(Person)))

9. πfirstName,lastName,areaOfExpertise(σareaOfExpertise=′Smartphones′ ∨ areaOfExpertise=′WearableTechnology′

(Person ./ Attendee ./Atteedee.ID=ListenTo.attendeeID ListenTo
./ListenTo.keynoteSpeakerID=KeynoteSpeaker.ID KeynoteSpeaker))

10a. πProduct.ID,modelNumber,Name(Product ./Product.ID=bt.productID

ρbt((πattendeeID,productIDProductTrial) ∩ (πattendeeID,productIDTransation)))

10b. πPerson.ID,firstName,lastName(Person ./Person.ID=bt.attendeeID

ρbt((πattendeeID,productID(σminutesTried≥10ProductTrial))− (πattendeeID,productIDTransation)))

11. πPerson.ID,firstName,lastName(Person ./Person.ID=bt.attendeeID ρbt(πt1.attendeeID
(σt1.date=′04/02/2014′ ∧ t2.date=′04/03/2014′ ∧ t3.date=′04/04/2014′(ρt1(Transaction)
./t1.attendeeID=t2.attendeeID ρt2(Transaction) ./t2.attendeeID=t3.attendeeID ρt3(Transaction)))))

12. γMAX(totalSales)(γProductSubCategory.name,SUM(amount)→totalSales

(ProductSubCategory ./ProductSubCategory.ID=ProductBelongToSubcategory.productSubCategoryID

ProductBelongToSubcategory ./ProductBelongToSubcategory.productID=Product.ID

Product ./Product.ID=Transaction.productID Transaction))
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